Flux

Deviation [sigma]

20

10

-10

-20

Deviation [sigma]

20

10

-10

-20

Deviation [sigma]

20

10

-10

-20

4U1705-44-JEMX2-MJD55249.126684 _|c.txt / MJID 55249.126727 / burstid=7966

E Grey line: exponential fit Peak flux: 1.807+/- 0.679 c/s/cm? E
C Black line: power law + gauss fit Fluence : 11.90+/- 4.77 clcm? ]
— Dashed line: power law o ' ) —]
C Duration : 21.27+/- 11.33 s m
- Best fit model: 1. .
- Best fluence model: 1. B
- Best duration model: 1. s
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—  Power law fit plus Gaussian (st.dev.= 7.08+/- 2.06 s, fracgs= 0.00+/- 0.00) =
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